













c l

P X x p l p x 1 2,3

where p is the constant probability of success

in each individual trial

If X Geo p cumulative distribution
K

PCXex l f p
If X Geo pp

Mean X ECK er f
Variance Varcx 02 1 1

Exercise 3A
Geo o 15

1 a P X co o 859 0 15

b p Xix l PC 77

I O 85

c P 3 EXE 12 P XI 12 P XE2

I 0.85 I o 85

E Roll 4 to start 4 sided dice

a i P x D

Geometric Distribution



ii PC x 5 4 4
iii p xia I PCX a

I H

7 X Geo 0.032

a P X x 0.0203

O 968 x 0.032 0.0203

0.968 0.02030032

x 1 Into 968 In 8 213
K c n

o 0203
T

Into 968

C l 13.99

X 14.99 2 15

s P x ex co 1

I l p co 1

I O 968 o I

l O I C 0.968
O a 0.968

C rue for ye but not for so 4
So 2 3



c P X3x co 05

PC X x l co 05

a i

O 968 Co 05

K l In 0968 C Info of

x D 1nCo
InCo 968

X I 92.11

X 7 93.11

Min K

9 X Geo 0.051

a P X 10 O 959 0 05

b P X is i P X 14 0.9514

1 X Poison 4

PIX s i l P Xfa

I O 6288369454

O 3711630546

P 4 5 0.62884 0.3712 O 0580

P 778 O 62883698 O 0245



Exercise 3B
7 a Geometric Dist

b Prob constant and independent trials

c p x 2 O 16 p co 5 Find p
t p p 016

p p t 0.16 O e p pto.tl
By calc p t p

p o Z

E Cx Lp z 5

Vara l p
a f i Is x 25

20


